
?´¨� .... ÂÊ�ä ×þ Ý�� ßþ� .´¨� 1s2 2s2 2p5 �¤�¬ �� ü·�¡ Ý�� ×þ ü÷øÂµØó� Çþ�¤� (1°�¹÷¥�ð (¢ ý�Üê�÷ (� ý�Üê �±ª (� ý�Üê (Óó�?´¨� ��Àî Àû¢üõ ý�� ¢�¡ ¤¢ 3d �bþ� Âþ¥ ¤¢ ñ�µ��¤ø� ×þ �î üþ�ûöøÂµØó� ¢�Àã� Â·î�À� (21 (¢ 5 (� 10 (� 2 (Óó�ø ö�øÂµ�÷ ,(CH4) ö�µõ ,öÄ�Æî� ¥� ýø�Æõ ý�ûö¥ø �÷�ð�À� ¤�Ï �� ö�ÆØþ ý�õ¢ ¤¢ ýÂµ�ó ×þ éÂÒ ¤�ú� ¤¢ (3?´¨� ´¨¤¢ �¤�±ä ��Àî .À÷¤�¢ ¢��ø ö�ø¤À�û.´¨� ö�ÆØþ éÂÒ ¤�ú� Âû ¤¢ �ûñ�Øó�õ ùÀä (Óó�.´¨� öÄ�Æî� ý�ûñ�Øó�õ ùÀä ÓÊ÷ ö�µõ ý�ûñ�Øó�õ ùÀä (�.´¨� ÂµÞî �Þû ¥� ö�ø¤À�û ý�ûñ�Øó�õ ùÀä (�.´¨� öÄ�Æî� ý�ûñ�Øó�õ ùÀä Â��Â� ø¢ ö�µõ ý�ûñ�Øó�õ ùÀä (¢?´¨� ü±Îì ñ�Øó�õ ��Àî (4
CCl4 (¢ CO2 (� SF4 (� BCl3 (Óó�?´¨� ÂµÈ�� �Þû ¥� ýÀ÷���Â�è ý�ûöøÂµØó� ´Ô� ¢�Àã� �÷�Þ÷ ��Àî ¤¢ (5

N2O2−2 (¢ N2O4 (� N2O (� N2O3 (Óó�?´¨� ��Àî ,´¨� 1s2 2s2 2p6 ü÷øÂµØó� Çþ�¤� �� ýÂÊ�ä ùøÂð Ýû ø 50 ¥� Âµð¤�� ö� üÞ�� ¢Àä �î ýÂÊ�ä (68436Kr (¢ 12753 I (� 13154 Xe (� 12251 Sb (Óó�À�Æî� ßþ� ¤¢ X ü÷¥ø À¬¤¢ .´¨� 2 �� 1 Â��Â� O �� X ý�ûÝ�� ùÀä ´±Æ÷ ö� ¤¢ �î ¢¤�¢ ýÀ�Æî� X ÂÊ�ä (7?´¨� ��Àî.´¨� 1 �� 1 Â��Â� O �� X ý�ûÝ�� ùÀä ´±Æ÷ ö� ¤¢ �î ÂÊ�ä ßþ� ¥� ýÂÚþ¢ À�Æî� ¤¢ X ü÷¥ø À¬¤¢ .´¨� %78/888/1 (¢ 50/0 (� 74/2 (� 39/4 (Óó�¤��µ¡� ý¢�Þä ¤�½õ ýø¤ �¤ �õ¢ ýÀ����¤¢ ?¢�ªüõ ¯��Âõ ¤�¢�Þ÷ ��Àî �� Âþ¥ ��±�îÂ� ©�� ý�õ¢ ��Â��ç� (8.À��î
H2O , H2S , H2Se , H2Te



?¢¤�¢ (ùÀÈ÷ ´Ô�) ¢ÂÔ�õ öøÂµØó� �÷�Þ÷ ��Àî (9
NO+2 (¢ NO2 (� SO2 (� NO−2 (Óó�?Àþ�üõ ´¨¢ �� ×þÂµ�÷À�¨� ñ�õ À�� Âþ¥ ý�ó¢�ãõ Õ±Ï �� ñ�õ 3/0 �� ö�øÂµ�÷ À�Æî�ý¢ ñ�õ 4/5Ç�î�ø ¥� (103NO2 + H2O −→ 2HNO3 + NO23 × 4/5 (¢ 2/0 (� 32 × 4/5 (� 4/5 (Óó�?´¨� ¼ÎÆõ üþ��Þ�ª �÷�ð ��Àî (11
SO2−3 (¢ ClO−3 (� CO2−3 (� NH+4 (Óó�?´¨� ùÀÈ÷ ´�ã±� üþ�µÈû ýùÀä�ì ¥� ñ�Øó�õ ��Àî ¤¢ (12
HCN (¢ BeF2 (� O3 (� HNO3 (Óó�ö�øÂµ�÷ ñ�õ À�� �� ,í��÷�õ� ñ�õ Ý�÷ ��ú� ý�Â� .¢Â�ðüõ ��¹÷� %50 ù¢¥�� �� N2 + 3H2 −→ 2NH3 Ç�î�ø (13?´¨� ¥��÷2 (¢ 14 (� 1 (� 0/5 (Óó�´��Ï¤ �Á� Â�� Â � ü�Àõ ¥� Å� .´¨� �� À¬¤¢ 5 ø CaCl2 À¬¤¢ 76 ý�¤�¢ Ý�ÆÜî ÀþÂÜî ü�¤�¹� ¤¢�� (14?´¨� ��Àî üþ�ú÷ ñ�Ê½õ ¤¢ CaCl2 À¬¤¢ .À��þüõ Çþ��ê� À¬¤¢ 15 �� ö� �� ¤�ÀÖõ25 (¢ 38 (� 68 (� 85 (Óó�?´¨� ��Àî À�Æî� ßþ� .´¨� ö�øÂµ�÷ ü÷¥ø %36/9 ý�¤�¢ ö�øÂµ�÷ ¥� ýÀ�Æî� (15
N2O3 (¢ N2O5 (� NO2 (� NO (Óó�?´¨� (ùÀÈ÷ ´Ô�) ¢ÂÔ�õ ý�ûöøÂµØó� ¢�Àã� ßþÂµÈ�� ý�¤�¢ �þ�� ´ó�� ¤¢ Ý�� ��Àî (1620Ca (¢ 33As (� 31Ga (� 34Se (Óó���Àî À�Æî� ßþ� ,¢�ª À�ó�� �Üê �Âð 3/579 ,ö�ø¤À�û ý�Ü�¨ø �� �Üê ×þ À�Æî� �Âð 4/130Çû�î ¥� ù�ðÂû (17?´¨�
CuO (¢ NiO (� AgO (� Cu2O (Óó�ùÀª ù¢�¢ ��Ê¿Èõ �� ���� �� (α2)HA2 ø (α1)HA1 Ó�ã® ý�ûÀ�¨� ¥� ¤��õ ×þ ñ�Ü½õ ×�ØÔ� ��¤¢ ß�� (18

(KaHA1 = 10−4 , KaHA2 = 10−6) ?´¨� ¢���õ ý��Î��¤ ��
α1
α2 =

110 (¢ α1
α2 = 10 (� α1

α2 = 10−2 (� α1
α2 = 100 (Óó�



ñ�Ü½õ Ýî AgCl.Ý��îüõ �ê�®� Àõ�� ùbÂÖ÷��Âµ�÷ ñ�Ü½õ ßþ� �� .´¨� 2 Â��Â� HCl ¤��õ 10−2 ñ�Ü½õ pH (19?´¨� ��Àî ñ�Ü½õ pH ´ó�� ßþ� ¤¢ .(´¨� ´��� Ý¹�) À�îüõ ��¨¤7 (¢ > 2 (� < 2 (� 2 (Óó�?À�îüÞ÷ ÛÞä Â��Ôõ� ö���ä �� �� ñ�� ¤¢ ö�þ ��Àî (20
H2PO−2 (¢ HSO−3 (� H2PO−4 (� HCO−3 (Óó�.(´¨� ´��� Ý¹�) Ý�þ��ê�üõ ×È¡ Àõ�� CaCl2 ñ�Ü½õ ßþ� �� .´¨� a Â��Â� Na2HPO4 ¥� üó�Ü½õ pH (21?´¨� ´¨¤¢ ñ�Ü½õ ßþ� pH «�Ê¡ ¤¢ ¢¤�õ ��Àî .À�îüõ ��¨¤ ñ�Ü½õ Ýî Ý�ÆÜî ��ÔÆê7 (¢ > a (� < a (� a (Óó�:Âþ¥ ý�ûñ¢�ã� �� ���� �� (22

PO3−4 + H2O ⇀↽ HPO2−4 + OH− Kb = 10−1/7
F− + H2O ⇀↽ HF + OH− Kb = 10−10/8 ?´¨� ´¨¤¢ ��þ�ð ��Àî.´¨� Â�ý�ì HF ¥� HPO2−4 À�¨� (Óó�.´Æ�÷ ÂþÁ�ö�Øõ� Kb §�¨� Â� HPO2−4 ø HF ýÀ�¨� �¤Àì �Æþ�Öõ (�.´¨� Â�ý�ì HPO2−4 À�¨� ¥� HF (�.´¨� ö�ÆØþ HPO2−4 ø HF ýÀ�¨� �¤Àì (¢

pH ,Ý�þ��ê�üõ ¤��õ 10−3HCl ñ�Ü½õ Âµ�óüÜ�õ 100 ,¤��õ 10−3 Ýþ¤�� À�Æîø¤À�û ñ�Ü½õ Âµ�óüÜ�õ 100 �� (23.(´¨� Ûõ�î Ýþ¤�� À�Æîø¤À�û ×�ØÔ�) ?´¨� ��Àî ñ�Ü½õ9 (¢ 9/3 (� 8/7 (� 10/7 (Óó�.¢�ªüõ .... À��ø .... ö� pH ,Ý��î Õ�ì¤ �±�Âõ 10 �¤ ý�ì �f õ�î üµ�êÂÒ ø¢ ¥�� ×þ ¤��õ 0/01 ñ�Ü½õ ù�ðÂû (24¢�þ¥ ,2 (¢ ¢�þ¥ ,1 (� Ýî ,2 (� Ýî ,1 (Óó�?´¨� ��Àî �� ñ�� ÇÖ÷ ,Na(s) + H2O −→ Na+ + OH− +
12H2 ↑ Ç�î�ø ¤¢ (25À�¨� Ýû ø ùÀ��îÀ�Æî� Ýû (¢ ¥�� ÍÖê (� ùÀ��î À�Æî� ÍÖê (� À�¨� ÍÖê (Óó�.¢�ª üõ ü·�¡ pH = 14 �� ¢�¨ Âµ�óüÜ�õ 13/50 �� ¤��õ 0/3 À�¨� ×þ ¥� Âµ�óüÜ�õ 15 ,ß�ãõ ü�Â¹� Íþ�Âª ¤¢ (26?´¨� üµ�êÂÒ À�� À�¨� ßþ�4 (¢ 3 (� 2 (� 1 (Óó�



ñ�õ À�� .Ý�þ��ê�üõ ¤��õ 2 ÝþÀ¨ÀþÂÜî Âµ�óüÜ�õ 100 ,(Ksp = 10−10) á�±ª� ùÂÖ÷ÀþÂÜî ñ�Ü½õ Âµ�óüÜ�õ 100 �� (27?À�îüõ ��¨¤ ùÂÖ÷ÀþÂÜî0/5× 10−5 (¢ 10−5 (� 0/5× 10−6 (� 10−6 (Óó�öÀªÛ� ´�Ü��ì �»÷��� .Ý�û¢üõ ö�È÷ S2 ø S1 �� °��Â� �� �� ¤¢ �¤ ùÂÖ÷À�õÂ� ø ùÂÖ÷ÀþÀþ öÀª Û� ´�Ü��ì (28?´¨� ´¨¤¢ ��þ�ð ��Àî ,Ý�û¢ ö�È÷ S3 �� ´¨� ùÂÖ÷À�õÂ� ø ùÂÖ÷ÀþÀþ ý�¤�¢ �î üó�Ü½õ ¤¢ �¤ ùÂÖ÷ÀþÀþ
(KspAgBr = 10−12 , KspAgI = 10−16)

S3 < S1 (¢ S3 > S1 (� S3 = S2 (� S3 = S1 (Óó�¤¢ ��þ�ð ��Àî .´¨� 11/7 ø 8/6°��Â� �� �� ñ�� ¤¢ ö�ÆØþ ´ÑÜè �� NaB ø NaA ý�û×Þ÷ ñ�Ü½õ pH (29?´¨� ´¨¤¢ ¯��Âõ ý�ûÀ�¨� ¢¤�õ
HB ¥� Â�ý�ì HA (Óó�
HB ¥� ÂµÔ�ã® HA (�.´¨� Â��Â� HB ø HA ýÀ�¨� �¤Àì (�.´Æ�÷ ÂþÁ�ö�Øõ� ÝþÀ¨ ý�û×Þ÷ pH §�¨� Â� ýÀ�¨� �¤Àì �Æþ�Öõ (¢?´¨� ��Àî (d = 1/83g.cm−3 ,Éó�¡ À�¨� % 95) ü�¤�¹� ×þ¤�Ôó�¨ À�¨� ¤¢ �� �µþ¤��õ (307/08 (¢ 5/08 (� 6/08 (� 4/08 (Óó�?´¨� ��Àî �� ÇÖ÷ 2F2 + 6H2O −→ 4F− + O2 ↑ +4H3O+ Ç�î�ø ¤¢ (31À�¨� ÍÖê (¢ ùÀ��î Ǒ���� ÍÖê (� ùÀ��î Ǒ���� Ýû ø ¥�� Ýû (� ¥�� ÍÖê (Óó�?¢¤�À÷ H2O2(aq) −→ H2O(l) + O2(g) �þ�¹� ´äÂ¨ ýø¤ ýÂ���� Ûõ�ä ��Àî Çþ��ê� (32¤�Èê (¢ ¤ø��ó���î (� ´ÑÜè (� �õ¢ (Óó�Í¨�µõ ñø� ¥�õ�Ç÷�¢ .À÷¢�¢ ¤�Âì �ãó�Îõ ¢¤�õ ö�ÆØþ ý�õ¢ ø ´ÑÜè ¤¢ �¤ H2O2 �b þ�¹� ´äÂ¨ ¥�õ�Ç÷�¢ ø¢ (33�b Æþ�Öõ .¢�Þ÷ß��ã� ñø� �Ö�ì¢ 4 ¤¢ �¤ H2O2 �b þ�¹� ´äÂ¨ Í¨�µõ �ø¢ ¥�õ�Ç÷�¢ ø ñø� �Ö�ì¢ 2 ¤¢ �¤ H2O2 �b þ�¹� ´äÂ¨?´¨� ��Àî ¥�õ�Ç÷�¢ ø¢ ßþ� Í¨�� ùÀª ß��ã� ´äÂ¨ Í¨�µõ.´¨� ¥��÷ ÂµÈ�� ��õ�Üãõ �� (¢ üóø�< üõø¢ (� üóø�> üõø¢ (� .´¨� ýø�Æõ Ýû�� ø¢ Âû (Óó�¤¢ ¯�Ü¿õ Ý¹� ù�ðÂû .´¨� ¤�ÂìÂ� 270C ý�õ¢ ¤¢ ýÂµ�ó 10 éÂÒ ×þ ¤¢ ,AB(g) −→ A(g) + B(g) ñ¢�ã� (34.....Kc ñ¢�ã� ´��� ¤�ÀÖõ ,Ý�û¢ Çû�î Âµ�ó 5 �� 270C ´��� ý�õ¢ ¤¢ ñ¢�ã� ñ��.¢�ªüõ Â��Â� ø¢ (� .¢�ªüõ ÓÊ÷ (Óó�.À÷�õüõ ´��� Å³¨ ¢�þ¥ ´Æ¿÷ (¢ .À�îüÞ÷ Â��ç� (�



Fe2+ ö�þ .¢�ª Û¬�� Fe2+(aq) ö�þ �� À��îüõ Û� ü±¨��õ À�¨� ¤¢ �¤ ö� ,ü÷�î ×þ ¤¢ ßû� ýÂ�ðù¥�À÷� ý�Â� (35:¢�ªüõ ùÀ�¹�¨ Âþ¥ Ç�î�ø ý�Ü�¨ø��
Fe2+(aq) + Ce4+(aq) −→ Ce3+(aq) + Fe3+(aq) éÂÊõ ,Ce(SO4)2 ,ÝþÂ¨ ��Ôó�¨ 0/133M ñ�Ü½õ ¥� Âµ�óüÜ�õ 42/34 ,ü÷�î �÷�Þ÷ ×þ ¥� �Âð 15/45 ¤¢ ßû� Ç¹�¨ ý�Â�
(Fe = 56) ?´¨� ��Àî�÷�Þ÷ ßþ� ¤¢ ßû� ü÷¥ø À¬¤¢ ,Àª2/04 (¢ 2/55 (� 3/15 (� 4/05 (Óó�ý¤�ÀúÚ÷ ý�Â� .´¨� ùÂÖ÷ ø Åõ ,ßû� ,ýø¤ ,�����õ�ó� ,²� �� ´¨�¤ ¥� üþ��Þ�ªøÂµØó� ýÂ¨ ¤¢ ���Üê °��Â� (36?´¨� Â�°¨��õ �Üê ��Àî ¥� ùÀª �µ¡�¨ éÂÒ ,Åõ��Ôó�¨ ñ�Ü½õ

Zn (¢ Fe (� Ag (� Al (Óó�?´¨� ÂµÈ�� �Þû ¥� �Üê ø¢ ��Àî ¥� ùÀª �µ¡�¨ Û�� ��µóø 36 Ç¨Â� ¤¢ ùÀª ù¢�¢ ��õ�Üãõ �� ���� �� (37
Al − Fe (¢ Al − Ag (� Zn − Cu (� Al − Zn (Óó�?´¨� ´¨¤¢ ¢�Þ¹÷� �Àõ ñ�Ï ¤¢ �þ¤¢ �� ¢�Þ¹÷� ý�õ¢ ø ÂÎÖõ �� ¢�Þ¹÷� ý�õ¢ �� ¯�±�¤� ¤¢ Âþ¥ ¢¤�õ ��Àî (38.À÷�õüõ ´��� ø¢ Âû (� .À��þüõ Çþ��ê� ¸þ¤À� �� üõø¢ ø À÷�õüõ ´��� üóø� (Óó�.À��þüõ Çû�î ¸þ¤À� �� üõø¢ ø À÷�õüõ ´��� üóø� (¢ .À�îüõ Â��ç� ø¢ Âû (�10000C ¤¢ Ç�î�ø ßþ� ,Kc ,ñ¢�ã� ´��� Âð� .¢�ªüõ �þ�¹� I2 ø H2 �� °¨��õ Íþ�Âª ¤¢ ö�ø¤À�ûÀþÀþ ¥�ð (39?¢�ªüõ �þ�¹� �õ¢ ßþ� ¤¢ ö�ø¤À�ûÀþÀþ À¬¤¢ À�� ,Àª�� 0/028 Â��Â�14/6 (¢ 8/4 (� 25 (� 12/5 (Óó�?´¨� ��Àî À�¨� ßþ� ö��¨���÷�þ ´��� .´¨� 2/94 Â��Â� ×�µ¨� À�¨� 0/1N ñ�Ü½õ pH (401/3× 10−6 (¢ 1/3× 10−5 (� 1/1× 10−3 (� 1/1× 10−2 (Óó�?´¨� ��Àî ,S2O2−8 ,��Ôó�¨ý¢ üÆî�Â� ö�þ ¤¢ ¢Âð�ð (Çþ�Æî�) ö��¨�À�Æî� ¢Àä (41

+2 (¢ +4 (� +6 (� +7 (Óó�?´¨� ��Àî Âþ¥ ùbÀª �÷¥��õ �b ó¢�ãõ ¤¢ ñø� éÂÏ ¢��õ °þ�Â® á�Þ¹õ (42
MnO−4 + H2C2O4 + H+ −→ Mn2+ + CO2 + H2O3 (¢ 8 (� 18 (� 13 (Óó�5000C ý�õ¢ ¤¢ ýÂµ�ó ×þ ý�µÆ� ¤¢ üó�¡ éÂÒ ¤¢ AB ñ�õ 1/1 ö¢�¢ ¤�Âì ¥� AB(s) ⇀↽ A(g) + B(g) ñ¢�ã� (43?´¨� ��Àî ñ¢�ã� ´ó�� ¤¢ AB ý�ûñ�õ ¢�Àã� ,Àª�� Kc = 1 ù�ðÂû .´¨� ùÀª Û¬��0/1 (¢ 0/2 (� 0/55 (� 0/66 (Óó�



�� Â�¿±� ý�õÂð .´¨� ñ�õ Â� ñø��Ü�î 459 ø 494 ,432 °��Â� �� O − H ø O = O , H − H ý�ûÀ÷��� ý�Â÷� (44°Æ� Â� �õÂð¤�ÀÖõ �� ,âþ�õ ´ó�� �� �� À�ó�� ø öÄ�Æî� ¤¢ ö�ø¤À�û ¥�ð �Âð 10 ßµ¡�¨ ¥� .´¨� ñ�õ Â� ñø��Ü�î 44?¢�ªüõ Û¬�� ñø��Ü�î2420 (¢ 1415 (� 566 (� 283 (Óó�.À�õ�÷üõ ..... �¤ ..... ý�ûù¤£ âÞ¹� ø üØþÂµØó� ¤�� ö¢�¢ ´¨¢ ¥� À�þ�Âê üÜî ¤�Ï �� (45ö��Æ÷�³¨�¨ - Àõ�� (¢ ö��Æó�õ� - âþ�õ (� öÀª �µ¿ó - ýÀ���Üî (� ��ó�þ¢ - ýÀ���Üî (Óó�?À�µÆû ���Èõ ýÀ���Üî ø üÖ�Ö� ý�ûñ�Ü½õ ¢¤�õ ��Àî ¤¢ (46üê�¬ ¥� ¤�±ä (¢ ¤�÷ Â�Æõ ö¢�� É¿Èõ (� ý¤�Àþ�� (� �ûù¤£ ù¥�À÷� (Óó�?¢�ªüõ ü·�¡ �f õ�î ¢�¨ ñ�õ 2 �bÜ�¨ø �� °�îÂ� ��Àî ¥� ñ�õ ×þ (47
NaH2PO3 (¢ NaH2PO4 (� NaH2PO2 (� NaHC2O4 (Óó���Àî .Ý��î ��ú� Åõ ��Ôó�¨ ¤��õ 0/2 ñ�Ü½õ ,(M = 249/5)CuSO4.5H2O ×Þ÷ ¥� ù¢�Ôµ¨� �� Ý�û��¡üõ (48?´¨� ´¨¤¢ ©ø¤.Ý��î Û� �� Âµ�ó 1 ¤¢ �¤ ×Þ÷ ¥� �Âð 49/9 (Óó�.Ý��î Û� �� Âµ�óüÜ�õ 950/1 ¤¢ �¤ ×Þ÷ ¥� �Âð 49/9 (�.Ý��î Û� �� Âµ�ó 1 ¤¢ �¤ ×Þ÷ ¥� �Âð 25/09 (�.Ý�÷�¨Â� Âµ�ó 1 �� �¤ ñ�Ü½õ Ý¹� ,ù¢Âî Û� �� ý¤�ÀÖõ ¤¢ �¤ ×Þ÷ ¥� �Âð 49/9 (¢?´¨� ü÷�þ À÷��� á�÷ ¢¤�õ ��Àî ¤¢ (49

I2 (¢ AlCl3 (� KCl (� ClF (Óó�?´¨� ��Àî À�¨� ö��¨���÷�þ ´��� .´¨� 0/33 �� ¤¢ HA À�¨� ¤��õ 0/2 ñ�Ü½õ ×�ØÔ� ý��¤¢ (500/2 (¢ 6/6× 10−2 (� 1/62× 10−2 (� 3/25× 10−2 (Óó�



�Î¨�µõ ©¥�õ� ÝþÀì ��Ñ÷ ö�¥�õ�Ç÷�¢ �� ¯��Âõ ý�úÈ¨Â�?´¨� ��Àî F2O2 ¤¢ öÄ�Æî� (Çþ�Æî�) ö��¨�À�Æî� ¢Àä (51
−1 (¢ +1 (� −2 (� +2 (Óó�?¢¤�¢ ýÀ÷���Â�è öøÂµØó� 4 ¢�¡ ´�êÂÒ �bþ� ¤¢ ,ÂÑ÷ ¢¤�õ ñ�Øó�õ ¤¢ �µ÷�Â� Û¡�¢ Ý�� ��Àî (52

NH4Cl(N) (¢ H3O+(O) (� H2O(O) (� NH3(N) (Óó�?´¨� ü±Îì üÆ÷��ø�î ö� À÷��� ø ü±ÎìÂ�è ñ�Øó�õ ��Àî (53
CCl4 (¢ H2O (� F2 (� HF (Óó��� À÷�ùÀªÉ¿Èõ F �� A éøÂ� �� �î ü�ø��� ñøÀ� ¤¢ üó��µõ ý�ûÂÊ�ä (Ç÷�þ) ö��¨���÷�þ ß�µÆ¿÷ ý�Â÷� (54?À�û¢üõ Û�ØÈ� ü±Îì ø üÆ÷���î üó�Øó�õ ,ÂÊ�ä ø¢ ��Àî :´¨� Âþ¥ ¤�Âì

A B C D E F1013 1000 1255 1519 418 590 kJ.mol−1
E, B (¢ C, E (� F, D (� C, A (Óó�?´¨� ��Àî ö� üÞ�� ¢Àä ,´¨� 1s2 2s2 2p6 3s1 �¤�¬ �� ýÂÊ�ä Ý�� ü÷øÂµØó� Çþ�¤� (5511 (¢ 19 (� 23 (� 8 (Óó�?´¨� ��Àî ñ�õ Â� ñø��Ü�î °Æ� Â� N2O4(g) Û�ØÈ� ý�õÂð ,Âþ¥ ý�ûù¢�¢ �� ���� �� (56
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CH3CH = CHCH3+HCl −→ CH3CHClCH2CH3 (� CH3CH = CH2 + H2 −→ CH3CH2CH3 (Óó�
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